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(a) reception theory

(b) political economy of communications
(c) cultivation theory '
{d) gatekeeping
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1. So some westerners are inclined to shrug their shoulders and say that East Asian
children are naturally more diligent or even more intelligent.

2. The success of Asian-Americans in gaining admission to elite universities has been
so marked that it has provoked rows about discrimination against Asians.

3. The Asian example has helped to bring regular tests and whole-class teaching back
into fashion in Britain. .

4. Japan's media bosses have begun to fear that they may not be calling the shots for
much longer.

5. The snag is that subscribers will also have to pay more money for another set-up
box and satellite dish to received PerfecTV!'s compressed signal.

6. Other digital broadcasters are expected to follow suit - or, at least, to make their
services as compatible as possible,

7. Keenly aware of everthing that could go wrong between their two countries, the
leaders of Japan and China are usually careful to get along with each other.

8. Although the Japanese government has neither endorsed nor repudiated the
federation's actions, the whole controversy has allowed Japan publicly to reiterate its
claim to the islands.

9. Usuaily they park ouside the offices of some offending politicians, bureaucrat or
business to yell abuse-mostly as a way of extracting hush money.

10. China has long said that, for the sake of good relations with Japan, it is prepared to
shelve the sovereignty issue. '

= - SR - RS R IERERYSRES - A RURAIE R T - FAMETE -
(142043

1. Many theories about East Asian economic success are

I) controversial  2) controvertial 3) controversy
2. Unlike South Asians and Latin Americans, Americans and cannot blame-
their relative failure on a lack of universal primary education.

1) British 2) Britain 3) Britons
3. In South Korea, Talwan and Japan, many children are sent to schools in the
evening, to supplement their daily Jessons.

1) cramming 2) cram 3) crammed ‘
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4. Come next summer, viewers who have bought receiving equipment for PerfecTV!

will also be able to JSkyB.
Dtuneonto 2)tuncinto 3) tune into
5. a result, subscribers to both satellite services will be able to use the same

set-top box and miniature dish.

)For 2)As 3)In
6. With up to 500 Japanese-Janguage channeis to feed, such production houses will
bring Japan's most young producers streaming out of the television studios to
seek their fortune.

1) talent 2)talents 3)talented
7. There is no more important and potentially relationship in Asia than that
between Japan and China, '

1) faithful 2) fateful 3} fatal
8. The Potsdam declaration stated that all territories ' ' from China by Japan
would be returned.

1)steal 2)stole 3) stolen
9. On his recent visit to Hong Kong, Japan's foreign minister was greeted by protests
led by some Democrats who, ironicaily, have long been considered by
Beijing. '

1} subvert 2) subversives 3) subversion
10. The governor of Taiwan province appealed to Beijing saying it was time
that it showed the world that it has the capability and determination to protect China's
historical territory.

1) highest 2)high 3) higher

= - SR R CEEEH TSR - (5105)

1. But only if the programmes of the digital satellite services are at least as good as
those from analogue broadcasters will digital television in Japan copy America's blast-
off, rather than Germany's sluggish start,

2. In 1994 some government officials wanted to bring forward the date at which all
the country's TV would be broadcast digitally from 2010 to 1999 - only to have their
plan shredded by NHK. :
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1. When a perfectly competitive firm attains long-run equilibrium, it is certain to be
operating at an output level at which its long-run average cost curve:
a) is falling.

b) is falling or attains a minimum. .

c) isrising.
d) attains a minimum or is rising.

2.1f a perfectly competitive industry is in short-run equilibrium, we can be sure that:
a) all producers in the industry are making a profit.
b) every producer who is supplying output is making a profit.
¢) all producers who are supplying output are making the same profit.

d) every producer who is supplying output is producing at a point where market N

price equals his marginal cost.

3. According to the law of diminishing returns, the marginal product of labor -

employed in a production process that also uses fixed inputs:
a) must rise initially as labor inputs are increased.

b) must fall eventually as labor inputs are increased.

c) must exceed AP, over some range of labor inputs.

d) must exceed AP; over all range of labor inputs. ' 7

4, The production function facing a firm will change whenever:
a) input prices change.
b) the firm employs more of any variable input.
¢) relevant technology changes.
d)  the firm increases its level of output.

5. In any production process, the marginal product of labor equals: _ B

a) the value of total output minus the cost of the fixed capital stock.
b) the change in total output that occurs when a one-unit change is made in labor

inputs. -

c) total output divided by total labor inputs.
d) total output produced with the given labor inputs.
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6. If the market demand curve is inelastic at any point, we can be sure that, at the
quantity level corresponding to this point, marginal revenue:
a) will be positive.
b) will be zero.
¢) will be negative.
d) will exceed average revenue.

7.1f an individual selling in a perfectly competitive market wants to double the
amount he sells in this market, he:
a) should lower price.
b) should advertise his product.
¢) should take steps to increase the elasticity of demand for his output.
d) need only double his output and the amount he offers for sale.

8. For a producer who sells in a perfectly competitive market and who attains short-
run equilibrium by supplying the output level that equates marginal cost with
market price, all of the following statements will hold except: '

a) average variable cost is certain to be minimized.

- b) marginal revenue will equal marginal cost.

c) marginal revenue will equal average revenue,
d) profits will be maximized.

9.1f the market demand cutve is linear and negatively sloped, we can be sure that:
a) it will have unitary elasticity everywhere.
b) the slope of the market demand curve will be everywhere the same but
elasticity will fall as quantity sold is increased.
¢) price elasticity will be everywhere greater than one.
d) price elasticity will be everywhere less than one but greater than zero.

10. A monopolist with positive MC would never maximize profits by producing at
which of the following points:
a) the one where TR is maximized.
b) one where AVC is falling,
c) one where MC is falling.
d) one where the price elasticity of demand for his output was less than one.
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11. A monopoly position is certain to offer profits to.the firm exeréising it in which
of the following situations:

a) the firm is also a monopolist.

b) the firm’s MR curve intersects its MC curve at the point where MC equals
ATC.

c) the firm’s MR curve intersects its MC curve twice,

d) the firm’s ATC curve lies at some output levels below its AR curve.

12. For a market to be perfectly competitive, all of the following conditions must
hold except: '

a) buyers must behave as price takers.

b) the market demand curve must be horizontal.
c) sellers must behave as price takers.

d) the product sold must be homogeneous.

13. In the special case in which all monopolistic competitors in a‘given group are
assumed to face identical cost and revenue curves, the profits that these ﬁ_rms
earn in long-run equilibrium will, assuming free exit and entry:

a) be substantial if they avoid price competition.

b) be zero.

¢) be substantial if they avoid nonprice competition.
d) be substantial if exit from the group is limited.

14. The imposition of a tax on the sale of a product traded in a perfectly
competitive market will have no effect in the short run on the quantity of output
traded in which of the following situations:

a} the tax is imposed on buyers of the product.

b) The tax is small.

c) market demand for the product has zero elasticity.
d) market supply of the product has zero elasticity.

15. The means by which a producer can seek to differentiate his product form that
of his competitors include all of the following but:
a) changing the ingredients he puts in his product,
b) changing the price at which he sells his product.
c) changing the way he packages his product.
d) changing the properties he atiributes to his product in advertising.
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16. A perfectly competitive economy would not achieve a Pareto bptimal allocation

of resources in production in the presence of which of the following conditions:

a) the government requires large producers to pay a tax on the labor they employ
but exempts small firms from the tax.

b) the government imposes a minimum wage that exceeds the wage that would
equate the supply of and demand for unskilled labor.

¢) externalities exist in consumption; i.e., the utility of some consumers depends
in part on the goods consumed by other individuals.

d) the economy, while it is operating at a point on its production possibility
frontier, is not operating at the point necessary for obtaining constrained bliss.

17. In a certain economy, producers of commodity X impose external diseconomies
on producers of other outputs. For resource allocation in this economy to be
Pareto optimal: ‘

a) production of commodity X must be halted altogether.

b) consumption of commodity X must be discouraged.

¢) commodity X must be sold at a price equal to its social marginal cost.
d) commodity X must be made a public good.

18. Inany economy in which all markets are perfectly competitive, the allocation of
consumption goods is efficient (i.e., Pareto optimal) because:

a) in such an economy production is efficient.

b) all consumers will be maximizing their satisfaction relative to the same set
of commodity prices, and, consequently, they will all have identical rates of
commodity substitution between any pair of consumption goods. -

¢) the social welfare function is defined in such a way that any point of
general equilibrium in a competitive economy maximizes social welfare;
i.e., corresponds to a point of constrained bliss.

d) perfect competition permits the economy to consume at a point beyond (i.e.,
above) the production possibility frontier.

19. To move in a two-good, two-person economnty from the contract curve in the
Edgeworth box to the utility-possibility frontier, we need to know:
a) the initial endowments possessed by both consumers of both goods.
b) the competitive structure of the market in which the two goods are traded. -
c) the point on the contract curve the two consumers reach through trading.
d) the level of utility that corresponds to each one of both consumers’ -
indifference curves. ‘
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20. If a two-input, two-output economy is operating at a point along its production
possibility curve, which of the following is not true:

a}
b)
)

4

production is Pareto optimal.
consumption is Pareto optimal.

all producers in both industries have identical rates of technical substitution
between both inputs.

the output of one good could not be increased without decreasing the
output of the other good.
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1. Management 1ls considered to be because it reguires the same basic

principles and concepts to attain high performance in all types of
organizations.

ocrganizational
universal
limlited
opportunistic
narrow

means defining goals for future organizational performance and deciding

the tasks and use of resources needed to attain them.

D0 T

Planning
Organizing
Controlling
Leading
Communicating

Max Weber was credited with introducing most of the concepts on

0 oOngTom

.

The

to

P00 wn

a.
b.
c.
d.
e,

fair priecing.

wage and salary.

employee benefits.
bureaucratic organizations.
scientific management.

invests his or her money and owns the business but dees not have
develop a new product, create a new company, or test the market.

franchiser
partner
corporation
franchisee
proprietor

goals are often called official goals.

Operational
Tactical
Infermal
Strategic
Mission

is a method whereby managers and employees define objectives

individualiy for all personnel and functions and use them to control subsegquent
performance.

Lanoo

MBO

PERT

Gantt
Critical path

"Pareto diagram
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11.
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13.
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When organizational parts interact to produce a joint effect that is greater
than the sum of the parts acting alone, occurs.

a. creativity
b. planning
c. value

d. synergy

e, cycle-time

Which of the following is a programmed decision?

decision to relocate a manufacturing plant

decision to reorder more paint to complete a job
decision to set up a new manufacturing assembly line
decision to offer a new product line

decision to discontinue cafeteria service

T an oo

uses a face-to-face, interactive group to spontaneously suggest
ideas for problem solutions.

. Delphi process

Nominal group technique
Multiple advocacy
Groupthink
Brainstorming

oanNnTe

When the external environment uncertainty is high, the organization should have
a(n) structure that emphasizes lateral relationships such as teams
and task forces. ‘

a. loose

b. tight

c¢. mechanistic
d. organlc

e.

inorganic ...

A fundamental principle about work and how workers can perform it, is that it
can be performed more efficiently if workers are allowed to

do their own thing.
specialize.

work in cliques.
work at home.

. work close to home.

D on oo

Reengineering is the radical redesign of business processes to achieve dramatic
improvements in

a. cost.

b. quality.

c. service.

d. speed.

e. all of the above.

The utilizes functiocnal and divisional chains of command

simultaneously in the same part of the organization.

a. geographical approach
b. functional approach

c. divisional apprecach

d. matrix approach

e. organlzational approach
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Just-in-time inventory control systems schedule material to arrive at the
company on the production line.

a. just after they are needed

b. way before they are needed

c. just as they are needed

d. irrespective of when needed because of finished goods
e, as the finished goods are completed

is the systematic reduction in the pumber of managers and employees
to make a company more cost efficient and competitive.

Downsizing

. HR planning. .

Discrimination

Affirmative action

Termination from the HR viewpoint

oo

A charismatic leader is one who

a. "barks" orders to subordinates. :

b. creates a vision, inspires loyalty, and motivates subordinates to realize the
vision.

c. is democratic, issues orders, and expects subordinates to follow them.

d. is a "country club style manager" who expects subordinates to provide
solutions.

e. is an autocrat, makes decisions without consultation, and accepts the blame
if things go wrong. ‘

power comes from a formal management position in an organization and
the authority granted to it.

a. Referent

b. Expert

c. Coercive
d. Reward

e. Legitimate

Suppertive leadership involves behavior that

stresses higher quality performance.

has the leader consulting with his or her subordinates about what to do.
has the leader telling subordinates exactly what they are supposed to do.
classifies the subordinate's path to rewards and say nothing.

shows concern about the subordinates' well being and personal needs.

Alderfer's ERG theory identified three categories of needs:

existence, retardness, and growth.
esteem, retardness, and growth.
esteem, relatedness, and goals.
existence, relatedness, and growth.
equity, relatedness, and growth.

nanow

occurs when the receiver responds to the sender’s communication
with a return message.

a. Encoder
b. Decoder
c. Message
d. Channel
e. Feedback
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is the process by which individuals screen and select the various
objects and stimulil that compete for their attention.

a. Stereotype
b. Perception organization
c. Perceptual selectivity
d. Perception

e. Archetype

The stage of developmenﬁ is a period of orientation and becoming
acquainted.

a. adjourning
b. norming
¢. performing
d. storming
e. forming

A is a group of from 6 to 12 volunteer employees who meet

regularly to discuss and solve problems affecting their common work activities.

a. focus group

b. ‘benchmarking

c. decision support group
d. guality circle :
e. social committee

Apple, IBM, and Compaq were locked in a titanic power struggle to dominate the
personal computer hardware industry. They can be described as

a. suppliers.

b. competitors.

c. customers.

d. labor market operators.
e. none of the above.

change involves redesign and renewal of the total organization.

a. Transactional

b. Mechanistic

¢. Transformational
d. Horizontal

e. Vertical

Z~BELFE (BALSS X3 04%)
R 2R UTELRGESR .
1. Enterpreneurship
2. Breakeven Analysis .
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5. 4745694 P
6. Frederick Hertzberg 44 Two-factor Theory
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